North Carolina Final Exam Questions 
Unit 1: Building Functions
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What is the inverse function of g(x) = x> - 22
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What is the end behavior of the function f(x) = — 1003
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6  Two functions are shown below.
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What is the value of P(T(3)) - T(P(3))?
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13 Whatis the distance between y-intercepts of the graph of x + 8 = 2(y + 3)7
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D 15
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24 A computer rental company charges $50 to rent a computer for one week. The
table below shows the daily late fees the company charges if a computer is

returned late.
Days Late Daily Late Fee

days 1 through 10 $5

days 11 through 20 $8

days 21 through 30 $10

What would be the total cost of renting a computer for.one week and returning it

15 days late?
A s120
B $125
c  s140
D $170
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What transformations have occurred to create the function f(x) = 3x> - 4 from the
function g(x) = x*?
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What is the range of the function f(x) = 75 - 2(x + 3)*?

A [75, )
B ("o, 51
C (-0, 751

D ("0, )
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Consider these two trigonometric functions:

F(x) = 3sin@0) + 4
g(x) = 3sin(2x - %) va

How should the graph of f be shifted to produce the graph of g?
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The maximum height, in inches, a ball reaches after its first four bounces is shown
in the table below.

Bounce Number Height (in inches)
1 42.0
2 315
3 23.6
4 17.7

Which type of function best models the data and why?

A an exponential function, because the height of the ball is decreasing by 25%
with each bounce

B an exponential function, because the height of the ball is decreasing by 75%
with each bounce

C  alogistic function, because the height of the ball is decreasing by 25% with
each bounce

D alogistic function, because the height of the ball is decreasing by 75% with
each bounce




